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H/w Q. Alcohol 1s more volatile than water because 1s lower than water.

/Q,Q'Oh\l'scfl qTt O STk TR 8laT &, 391eh 9T U & &IdT g
SS.C. JHATEH HIdeh T (T-I) 11 T&ds), 2016 (I- dTelh)

—

(a) I its boiling point 7/]6Hohl FALTh

4
/ (b) 1ts density/ 39l &ch
/ (c) its viscosity/ SHehl AT
(d) its surface tension / 38k Y8 -1

/
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* Ucohigd qﬁﬁaﬁ?ﬁaﬁwﬁa‘aﬁm% ?Rﬂ'%ﬁ

/ FECRT Gk, T Fh 8 sed A
78.5°C BIAT & 3q: TH i T AT el

D
N\
%

Alcohol is more volatile than water because
its boiling point 1s about 78.5 °C, much
lower than that of water. Hence, it
evaporates quickly on heating.
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Q.1 Who was the first Indian Governor-General of Independent India?
T AR oh T YR T S i o 2
S.S.C. AT H1de a0d (T-I) 6 s, 2016 (11-9TeT)

(a) Rajendra Prasad / S RS LE [

(b)]C./Rajagopalachari Y. TS TR
[ o
(¢)'A. Kriplani / T, shUcAlH]

(d) Lord Mountbatten / @1 HTISZseA



SSC CHSL 2022-23

* TIdF YA o JIH o S die Aleesed o, Seih

G WA o g ST JUH AR Tt SRS H.

STTATCTT= (1943-30 %) 9T WA R S eI 26 S,

/ /IWW, T T SR ST UG |HTH ek ST,
)

8

/

—

> - > _/
[S15;, TS 3hT HILT b1 T2H TSZATd -1k TehaT 7]
iy . \ )
® The first Governor General of independent India was

Lord Mountbatten, while the second and first Indian
Governor General of independent India was
C. Rajagopalachart (1948-50 AD). The Indian
Constitution came into force on January 26, 1950,
when the post of Governor General was abolished
and Dr. Rajendra Prasad was appointed the first
President of India.
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Q.2 In which year did Warren Hastings become the first Governor General of
AN AnNON . (@ . - S ~
_bengal? IR SREH R Y ST oh T T ST o 42
S.S.C. JE Hehi-ehet Ti&T 27 3K, 2020 (J-9retT)




/

< . .
* TTAIET T 1773 h HATER, @T@q-‘f{ ¢ ol 1 Sgciohl ST
%

[ T ST 1@ 18T Tl ST o U8c] T S aid aietd

N A ¢ o o < N — X

S| TEd: WA h TH 7o SRS dis oo sifdes Al simel”

T T {eld, Felisd I o STad Tt o JIH Tt SieT i

MmN PR :
& 5’4?;} G Y G,Gr-) Q%Wé@;—;\

@ °B ul 11@ Act 1773, the title of 'Governor of Bengal' was
changed to 'Governor General of Bengal'. Warren Hastings

@ became the first Governor General of Bengal. In fact, the first
4 I(Q a,F- Governor General of India was Lord William Bentinck. The first

i"mMGovemor of 'Bengal' was Robert Clive and the last Governor and
{i ogém )

the first Governor General was Warren Hastings.




Q.3 In which of the following years was the Cornwallis Code enacted?

/ﬁlﬁrﬁﬁﬁaaﬁl‘ﬁ, HiaieT® (Cornwallis) TS T TR TTAT 972 4
S.S.C. ST CHSL (T-I) 04 3T&d, 2021 (I11- dTedt)

(b) 1857 f
(c) 1723 /
(d) 1805
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o

@ﬂ

. Y
o 1793‘3‘ q Wﬁaﬁummmmml
/AT e (AT 141%?”) STRAT oh
JUFRT fgia TX SATeTi oft, fores ded o
-
Wohl Jch hi T T

*In 1793 AD 'Cornwallis Code' was
implemented. The Cornwallis Code was
based on the principle of separation of
powers, under which tax and administration

were separated.
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Q.4 Who was the Governor-General of Bengal when the Permanent Settlement
was introduced there in 17937
1793 H TTRIt SieTered JEdTierd T TRIT T, 39 S ST ah TaHL-STH{ hid & 2
S.S.C. 3THeTEA|CHSL (T-1) 10 3T, 2021 (II- 9reit)

(a) Warren Hastlngs/a?{_vf T

? (b) Sir John Macpherson/8x ST HehthEiA

(c) Sir John Shore/&d< S 3R

Lord Cornwallis/aiTe Sh-aTTd )

©




. o o -
* ST o IS ST€ hiHaTAT | TR

Qe o ded SHIGR ﬂﬁr%‘@lﬁwﬁq

TFQI R deiaEd Sl AHEh ® TR

FraTfer TrRa ﬁaﬂﬁﬁrﬁww‘ﬂﬁﬁwﬁaﬁ
IR AT =R ol

* The Governor-General of Beng_al was Lord
Cornwallis.  Under the  Permanent
Settlement, the zamindars were made
owners of the land. By giving practical
shape to the Permanent Settlement,
Cornwallis wanted to create a powerful
class of landlords in India.
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Q.5 renounced his knighthood 1n protest for Jalianwalla Bagh mass

/Xilling,

A SITAITATAT ST | S FATohTS o e § ST0HT AT3egE hl IUTH
AR L &7 i

— -
/ (a)\ Rabindranath Tagore / Yo+ MR

) St Holkar#ﬁﬁ\?ﬁm%ﬁ@{
(c) Jamsetjee Jejeebhoyﬁﬂﬁﬁ?ﬁ é@i/lﬂ“|a
(d) Surendranath Banerjee / ‘\fl?\?:lT@T SIS




‘fﬁﬁ—s'qgaé%ﬁmeH Dyer)ﬁﬁ%‘ﬁmﬁuﬁeﬂ@m
M TR AT 1000 ST ST 2T sl o0 Tl
— ST &q 1S11eY RN - §L FHHIIA I TS TohaT o1l 36T

SeATRTS o (9 | AT SR 3 ferfesr e g yem <
@ TS MTSEES’ shl 3UTTY Al af ol

®* A public meeting was called at Jallianwala Bagh, where

| \, General Reginald Edward Harry Dyer (R.E.H. Dyer)
¢ A# Y opened fire on an unarmed peaceful crowd, killing about

) S 1000 people. The British Government had constituted the

'Hunter Commission' to investigate this incident. In protest

P

against this massacre, Rabindranath Tagore returned the
title of 'Knighthood' conferred by the British Government.
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Q.6 Which of the following events did NOT occur in 19197
/1919 3 ffafiad & & HH-E e T2 g o 2

— S.S.C. HHATE HIdeh &l (T-1) 9 A=, 2020 (MT-HTe)

/%

(a) Jalllanwala Bagh tragedy took

/\place/viﬁdqionwonu ECThIS BT o
(b) Partition of Bengal took place / STt

(T
@/ EJPERISEIEIR)|
(c) Rowlatt Act was passed/ Tcic U

/ (d) Montague-Chelmsford Reform was
nnounced / ﬁ%ﬁl\t\l ThTS IR e
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E] scmohz’ﬁg(w , 1919)) Teie
/TR I (|1 1919) w@aaraqﬁ@waﬁ
sl ’19191333‘94? SEICACUIGRE
ERISEGIEESE wwosﬁ%mww

\J &V\

*® Jallianwala Bagh massacre (April 13, 1919),
Rowlatt Act passed (March, 1919) and
Montagu-Chelmsford Reforms were announced
in 1919, while Bengal was partitioned in 1905

under Lord Curzon.
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Indian Polity




Q.7 How many times national emergency has been implemented in India after

independence?
TR U EGd7d1 b o1e fehd-T a1

“\ o\
HTATART AT & el & 2

/ (a) Once/ Uch dX
/ (b) Twice/ LRSI

/e [Tee times )

4 (d) Four times/ I dX




EET ad[1962 7 ==
/ ?T-&'% T, EU GThEd™ S aﬁf\1971 4 STHING I H T
) /e St S F SO W 1075 & 1 T e 2
%WW%W352% ST BT ' T W 449

W(1978)HW€ AR cEIRCIE
@ L) e The first emergency proclamatlon undeArticle 352 was

made 1n the year 1962 during the China war, the second in

AT"—"}EC the year 1971 by Pakistan in the undeclared war and the
q VW/ third in the year 1975 on the basis of internal disturbance. It
(@ /Qr\ 1,3(5 N may be noted that 'Armed rebellion' has been substituted by

— _MF'VZ’- the 44th Constitutional Amendment (1978) in place of
“F1MIktLInternal Disturbance' in  Article 352 of the original

Constitution.




Q.8 For Wha§ maximu% period can the President's rule be extended with the
approvallof the Parliament every six months? 4/\/7«07‘%

/9?«3?{@: & | HH3 ol Tellehld cisht Tegufd ferehaH fohd &7 o foTu

. )
SGTT ST TehelT & ? S.8.C. A C.P.O.S T (T-1) 2 TS, 2017 (I-Tefh)

/ (a) Six months/ ©: e

/ (b) One year/Ush HIc
/(c) Wﬁﬂﬁfz
/(d) Three years/ 9 €Tcd

S




* G o IT=D2356 % WWW&%

ST T 6 HTE UK Q4 €98 o GHI &A1 51
T %ﬁ%“{wr%_cm%m‘doh EUhal g |

—

® Under Article 356 of the Constitution, the
proclamation of President's rule can last for a
maximum of 3 years after being passed by

both the Houses of the Parliament again every
6 months.
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—
Q.9 Which one of the following Commuittees is described as the 'twin s{ter' of the

—

Estimates Committee? -

/ﬁﬂ%ﬁaﬁﬁﬁﬁ?ﬁrﬂﬁﬁ T TTeFehcte HiH (< ohl 'Sl SIe' el wldlglz
(II- )

S.S.C. AT HTdeh T’ (T-1) 31 37T, 2016’

— —

(a)[ Public Accounts Committee g7 giHfd

/ C)

Committee on Public Undertakings / € EEIEE:

3k HiHTd >
(¢) Departmental Standing Committee/ [T
Tt wiwtd

/
(d) Privilege Committee / IEREIEEA L]
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. Q’IIOh AT HHT Sl STkt AT ht STgel sTeH Fed B
HEe % oI weT &% 22 gap:ﬁg TSI 9T a7 15 Al
W)?Hvloh{ Tk IE AT ool oiieh {1 % 30 qawed!
"~ U Tactent Taehetd Gyt T e BIdT 21 ik il Hﬁlﬁr

ﬁ;loromfl-l Gt st shiehret Teh aﬁwﬁm%lﬁ

® The Public Accounts Committee 1s called the twin

sister of the Estimates Committee. The Public
Accounts Committee consisting of 22 members of
both the Houses of Parliament (7 Rajya Sabha and 15
Lok Sabha) and the Estimates Committee are formed
consisting of 30 members of the Lok Sabha. The
tenure of Public Accounts Committee and Estimates
Committee 1s of one year.
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Q.10 Which parliamentary committee in India is normally chaired by a prominent
/ member of the opposition?
WA | Tohe Gedla |iHid shl HIHT=IC: TEAET({o9e] o Te Hc@m ARSI
a7 S.S.C. AT T ST (T-1) 30 3TTEd 201%%/1\1- qTeil)

N

(a) Committee on Government Assurances /
(b) Estimates Committee / JTsteheld 9 PJEB/

(c) Privileges Committee / %l‘\ﬁﬂﬁ‘\qw;ﬁlﬁf
(di Public Accounts Committee )Tieh A@T HiHfq

/
/




* YT T TAlh IGT GHI ehl STEIAAT |HIG: foaed

/ ST 1 ST BT ST O A ST ST F
‘éﬁmvﬂdﬂ SIET FHHId ek AT ol W
el wffd Bt |1 I8 9iufd WRa o e ud
Hslw{qmﬁwmﬁ‘iW@@TQﬁWWHﬁéﬁ

/%I ST et 2
@/ ®* The Public Accounts Committee in India 1s

generally headed by the opposition. It submits its
report to the Speaker of the Lok Sabha. Public
Accounts Committee to control public expenditure.
There 1s a committee. This committee examines
the audit reports given by the Comptroller and
Auditor General of India.
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GEOGRAPHY




Q.11 Lakshadweep group has a total number of how many islands? /

e e et b £ 2

A125
AAAAAA (s
b2 ./
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* AETSIT HHE H el 36 T 8| 394 H &8 s B
8, TN houdl, AR, (AT, 0T,
: 2\ o =
A, fodqu, Idad, forddH, sedd 3R
IEIEEaR —
® Lakshadweep group has a total number of
36 islands. Ten of them are inhabited 1.e,
Kalpeni, Kavaratti, Andreotti, Amini,

Agatti, Bitra, Chetlat, Kiltan, Kadmat and
Minicoy.
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Q.12 Bhitarkanika Mangrove forest 1s located in which of the following states of
India?

IR [UTeRT BT 99 WA o A=feiad Tsai | 9 forg | g 22

] Gujarat/TTSICId \/ /

] Karnataka/ FAICh /
\OdishaiP)/aﬂ%m
1 Andhra Pradesh/ 3T(&T Je31

o Q% >

4
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o : — e
o TR {UTeRT AT I TSI UsT H Rod
/ HEIRUERERUEEHE AR R ED
650 Tore 21
* Bhitarkanika Mangrove forest is
located 1n the state of Odisha. It has an

extent of 650 km in the deltas of
Brahmani and Baitarani river.
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Q.13 Which of the following is the longest r1

Aafaiad 0 & & @ 7€ IR 9 e

ver that originates 1n India?
T st HET 22

o

A] Brahmaputra/ sSTal9
oG 7

C] \Yamuna/mﬂfﬂ /
D] Godavari/MeTad]
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o T <} WA § feherd! @ 371 I8 Wi hl gedl

REIECIRIE
_ R
* The Ganges River originates from India and it

1s also the longest river in India.



1;\\— 2 : CHINA _Diapang. F z
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)
-
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Q.14 In which among the following states 1s located the Banihal Pass?
Jwieiaa 5 @ fore s | sifverer au feerd 22

/
A Jammu & Kashm@am 3T HIH

/ 'B]'Himachal Pradesh// Isycfl EI%{SF
'C] Uttarakhand/ 3d{lE@S

D] Sikkim/fferrw /




/
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o SR &1 2, 8321432?34&4*% S7TS O O ST X ﬁ

/" U TRIEH W 2| AT YA HE WA T5T S 3R
Wﬁwﬁwﬁﬁa@%mmaﬁtﬁwﬁﬁﬁ
SATRT & e 2|

® Banihal Pass 1s a mountain pass across the Pir Panjal
Range at 2,832 m maximum elevation. This
mountain range connects the Kashmir Valley in the
Indian state Jammu and Kashmir to the outer

Himalaya and plains to the south.



gy .. R
" L ’." e
\ Khardung La {

Saser La

P %
SRl k- INDIA
/

Dimjor

‘.-- —» Bara Lacha PaSSeS

,...--‘"l‘--.* ‘.!. Chang La

p Debas . - Jara La Thaga La
~ £ § Rohtang ! “‘ Imis La Mana Pass

T Jelepla ‘,'S‘hlpkila Niti Pass @
z,...,: e Vi / Balcha Dhura

‘. ’l Mangsha Dhura

k Mulmg La Llpu Lekh
_/ ......... e ::-._5 '. Q r" :

/ e W -.. ‘l.'. /- * 3
- A S o i ol
:/ ....' : ,2 o., -\' e ‘ A~

I"ﬁ....': ..'. '.\-- g \. '\'Od..q' *. :I
o 'ﬂ'. ) '/

.\-./"—../‘:l;\.-".. ..';

\ Haldighati O . ,

s e 8 88 Ry et *'e " K ../.
\ o' 8% %% - o N :. : H '
Seo ~ H 2 -u’. * %
. ) f'.-',."“ H oo ~n '".-, -: -.' '-....: \," ? FR
NN X Goran-i .. % ' Py

ghat o ", "d '.t

0
S
*
*e
D




SSC CHSL 2022-23

Q.15 The Grand Trunk Road or GT Road is one of South Asia’s oldest and

longest maJ or roads. It traverses through ?
IS o TS AT SIST TS SeTur TRTAT h! el T 3ﬁTH®IH sl T HSh ﬁﬁ
T 3| T8 TSIl 82

SATATI]
B] India & Pakistan Only/ hae A 3R

/ [A] India & Bangladesh Only/’gholcfl YT 3T

l4||<>|')*i‘('||"| —
C] India, Pakistan & Bangladesh@
// [ehedT ST TATaS]

D] India & Bhutan/ {T{d AR AR
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Q.16 Which among the following plateaus in India lie between Aravali & Vindhya
gion?
YR § FMETTRIT | § ohIF |1 USRS 3T e &1 oh sl [eord 87

] Chota Nagpur Plateau/S1el TR T SR

:Nalwa Plateau/ HTeTdT sl Y3 )

: lDeccan Plateau/ qdeh <hl Y3IX

/ ] None of the above/ Eqﬁﬁ oh\lg Tal

A © >




Baghelkhand
Plateau

Bundelkhand

Marwar
Plateau

Karnataka
Plateau

N\ Cauvery
river

Cardamom Hills

Plateau

Telangana
Plateau

' Shillong
Plateau

Chotanagpur
Plateau

. . / .
* qTAT UST T qIX IX e 97 o I H
— r\ \d * \'
SATATE T A 3h! G AT & A
ST 6 ToR o SL-IrEm H feord 2

e
®* Malwa Plateau generally refers to the

volcanic upland north of the Vindhya
Range and Aravalli lies in north-west
of this plateau.
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Q.17 At which of the following hills the Eastern Ghats and the Western Ghats joins?
e TcAfad | € forg uTel ot geff =rme I aferHt =ne fiyerd &2

Nilgir1 Hills/ATeiRt e

Palani Hillsﬁi AT T8y

s
B]

C] Anaimudi Hills/ 3THE! fewe

D] Shervroy Hills/ IRaT f&e
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° gef " IR qigHl =g i
Rt # fierd €

i ®* The Eastern Ghats and the

et Western Ghats meet 1n the
. 11~ Nilgiri Hills.

.I:"-E'l::n._'.;l.".' ] rundarbans
E Plalrf&a Uﬂ-r.-"‘

lakrhadweep Vr.
By
.‘-l._

Andaman and

\f
Cardamo Mrircobar I,
Hills =
b
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Q.18 Which one of the following rivers drains into the Arabian Sea?

A fIfad & 9 i & 9t 3 9 | iRt 29

The Narmada river drains into

the Gulf of Kt@ll)hu@&m%m

Sea). g b7
THeT Al Wc%/ \
W)ﬁﬁr{—cﬁél/ /23375\%

SoZ >

/

| Indravatl

Narmadzﬁ;!ﬁﬂ

‘Godavari/ ‘ilalafl

] Cauvery/ EACE] /



BENGAL

Nagor;una it AT

k™ SOQOVY M N
45 ~>'>(A~ | > \ iyt
Q"
] 2 . o
7S [ west Flowing River | .
ff Krishnaraja Sagar Pulicat Lake :B‘ .
Rese(voir oql )
> . 12°
T o . Q
»\3‘3”;&’/" 03
Vembanad ANDAMAN & NICOBAR ISLANDS
\, Lake - (INDIA)

LAKSHADWEEP
(INDIA)
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Q.19 Which Indian lake 1s renowned as the Lagoon Lake of India ?
-8 WA FieT WL o 7 Fiel o &9 § g & ? /
S.S.C. 3 CHSL (T-I) 8 %G, 291111- qrett)

e

(a) Kanjia Lake / SIS ST
(b) Agra Lake/3TI Y

(c) Mansar Lake / T8 Sicd

@ Déhﬂika lake / fawﬁ
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® Chilka Lake 1s a brackish water lagoon lake
located at the mouth of the Mahanadi in the
Indian state of Odisha. Its maximum length 1s

/ 65 km and its width 1s 820 km.
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Q.20 Super cooling stands for cooling of a liquid :

GO ST ohT SATHIT A o fohdt foig ot wfieietar @ &2 / Q@\L
S.S.C. AMATET Hiaeh i (T-1) 11 fadsy, 2016 (1- 9ret)

(a) At freezing pmnt/]%ﬂ'l%"‘ll

AU freezing | )
(b)| Below freezing point i)
(c) At melting point / T H{\ )

(d) Above melting point/ AT g W
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o fopdt Tt Rt foAT 319 ° ufEfda forw 39, 3o
f&Hieh (Freezing point) ¥ == o A9 dh 38T ST
YT BT SHEATT &) ik ST H FHRT IS0
ATk ST W ord aea 2, oad w9 =
(0°C ¥ %H) o ATIHTH hl STcT ohl sja et STTET H

HELIE

® The cooling of a liquid to a temperature below

its freezing point without turning it into a solid
1s called 'super cooling'. An example of this in
everyday life 1s clouds at high altitudes, in
which water droplets of temperatures below the
freezing point (below 0 °C) are in liquid form.
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Q.21 Which one of the following processes 1s responsible for the glittering of air

bubble rising through water?
ﬁuﬁﬁﬁﬁa g1 ATl STAded W S = Heh Bl & I8 fohdl Tfsha o hRoT Bl &2
S.S.C. AT H1aeh Tl (T-I) 1 fadsr, 2016 (11-9Tet)

<

N PE [N
(a) Reflection of light/Seh1RT e XS sh hILIT

(b) Refraction of light/JehTT & o ]

/ (c)Aotal internal reflection of light/SehTT b
|t chﬁa?h % I

Lt

(d) Scattering of hght/EIW %Eﬁéﬂh ch ch[{U]
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* U ¥ YT B ITed A H S =Heh Bldl & 98
STORTRT o JUT STTEh TXTad o R0l Bl &l

®* The glow that occurs in water-borne bubbles 1is
due to total internal reflection of light.
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Q.22 The instrument for measuring the intensity of light is called-
_FERTT shi WfTeTell shl HTUH o 31 shl heT STl &-

S.S.C. AT [CHSL (T-I) 23 S, 2017 ( 111 - UTedt)

(a) iucimeter/ < e

IE I g ThTST <Al terdr ATt (b) Cyanometer/aAHIET
STt 2 C) Cryometer/ERﬂTﬂET

The intensity of light 1s measured

d) Barometer/ ST
by a lucimeter.
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Q.23 The 'Choke' used with a tube light 1s basically
I ATEE o T1e TANT foRAT ST ATt =i’ {el €9 8 BT 87
_ S.S.C. TS HTaeh eI -1) 30 3ATEd, 2016 ( I- JTet)

oy

(a) An 1nduct0r / @
(b) A capac:ltor/ ggh

// (c) A transformer / RO

(d) A resistor/ B RECED
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[a VAN S\ ~ [
* TYFATEE TAd: FER{ I o9 2l T AR
N\ N ¢ & (o WEEAN

DN O C NN
AML onl sl ondd oh [l [dsicll oh &ls Alecs]

N I\

JTE shl ST BIdT 2l =i 9ok (Inductor) 3T
T T B

® Tubelight is basically a mercury vapor lamp.
It requires a high-voltage flow of electricity
to charge the mercury vapor. Chokes act as

inductors.
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Q.24 Which one of the following 1s an insulator ?

/’;!Hﬂfiﬂqq T AT (e @ 2 C/G,\[\Q

— S.S.C. AT sk &G0 (T-) 27 &, 2016 (1-4Te)
o

4

(a) Copper /sl

/(b) SWOOd/Fl%'_\";f )] /
(¢) Mercury/9s /
(d) Aluminium/TeHIIH
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o S garet & BleRt fordd 9w Yelfed Tl gl &,
3% "foraUrell’ shed 8| el forfaue 2

* The substances through which electric current
does not flow are called 'insulators'. Wood is
an insulator.
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Q.25 Which of the following is an inert gas most commonly found in light bulbs?

Wﬁﬁﬁﬁ@ﬁ%ﬁﬂ%w AT T3 Siosl H UTS STl @ 2
S.S.C. SHTelTe ST TaEE-1) 9 A, 2020 (111-97ef)

o] v 5185
/ (b) Hydrogen / 6|$§\Ivl/
(c) Oxygen / 3‘Ivlor{«|h|\rly

(d) Radon }(51?/
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* faed SIesll § e (Tungsten) 3 A3l ol
~ (o N . (o NN N\ NN
STFIIRLT | ST T ITodTehd B § Uehe oh
feT@ 3Tk T AT (Argon) 3T SN TohaT
ST 21 I N9 Sosd § Teh H¥d ae I 9l

Tt &l

® The inert gas argon is used in electric bulbs
to protect tungsten filaments from oxidation

and vaporization. This gas 1s filled in the
bulb at a certain pressure.
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Q.26 Which of the following 1s not an example of an allotrope used?
METTRIT H © ahi--91 Teh YR (TAISIT) hT ITANT TohIT SSTaL0T el 7

" (e
/ g / €) Diamond/ 811

Ve (b) Graphite/IHTEE
e (c) Steel/&TA
(d) Ozone/3TSTH

/
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* I T frzrerg § 7 foh 1oy, it I8 A,
fHoheT Te SRR STTfS ATl ol 3o EaT & |
Teh &I dcd 9o (9 &1 | fHear =, d I 39k
IATET(Allotrope) FHEATA gl S e oh HIEY
g0, U%Ee e g SAeSE T (02) T
NI 1 (03) AT dcdl (0) o 3TT%Y 2

® Steel 1s an alloy and not an alloy because it 1s
a mixture of metals like iron, nickel and
chromium. When the same element 1s found 1n
different forms, 1t 1s called allotrope. For
example, allotropes of carbon are diamond,
graphite etc. Oxygen gas (O2) and ozone gas
(O3) are allotropes of oxygen element (O).



